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QUESTION 1

What purpose does a FormPart serve?

A. FormParts allow a user to create sections within a form.

B. FormParts allow a user to reference only part of a forms item\\'s properties.

C. A FormPartis an object library allowing you to create an object once, then reuse it in many forms. As well, using a
FormPart allows for updating of common components by propagating the changes to all forms that reference that
FormPart.

D. A FormPart is an object library allowing you to create an object once, then reuse it in the current form only. As well,
using a FormPart allows for updating of common components by propagating the changes to all pages that reference

that form part.

Correct Answer: C

QUESTION 2

John has built a form that has alternating portrait and landscape pages and has specified the options. Which of the
following statements best represents what will happen when he prints the form?

A. Each page is printed in order and its specified orientation.
B. Each page is printed in order, but the orientation is not as specified.
C. The form will not print.

D. Two print jobs are automatically generated; one to print all the portrait pages and a second to print all the landscape
pages.

Correct Answer: A

QUESTION 3

Mark needs to make a field required. How can he do this WITHOUT using an xforms:bind?

A. Hecan set the field\\'s required property to \\V'on\\'.

B. He can use the Properties Dialog, and uncheck the "Required" checkbox.

C. He can use the Properties View and set the field\\'s format[presentation][mandatory] option to \\'on\\'.
D. He can use the Properties View and set the field\\'s format[constraints][mandatory] option to \\'on\\'.

Correct Answer: D

QUESTION 4
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Which statement below best describes XFDL?

A. XFDL is a subset of SGML.

B. XFDL is a document-centric markup language.
C. XFDL creates HTML Forms.

D. XFDL is a subset of HTML.

Correct Answer: B

QUESTION 5

The following statements regarding XForms are true, except for which one:
A. XForms isbased on XML formatted specification.

B. XForms includes a presentation layer for designing forms.

C. XForms models typically consist of data, binds, and submissions.

D. XForms is a W3C recommendation.

Correct Answer: B
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